Py

Racing Screers

;/,__ ) —“-\\ WINDSHIELD ADAPTABLE TO Mod.: TS
/,- \ |5 APRILIA SPORCITY CUBE 125/300 Ref.: 6020W
_/radfus

It would be convinient to re-tight the windshield
screws, specially the ones that are fixed to the motor-
cycle, whenever you maintain the vehicle.

Thanks for your attention.

ROUNDED CONTOUR-PROFILE

o pescriemon ———————————an]

1 Clear windshield 1
2 Metal support 20x5x64x80° 2
3 Plastic support 2
4 Plastic washer 4
5 M6x14 screw to tight into plastic 2
6 Support with drill through 2
7 Screw with drill through 2
8 Special washer 2
9 @10x200 bar 2
10 M8 nut cover 6
11 M8x20 screw DIN 931 1
12 Screw with drill trhough (left side) 1
13 @8 washer DIN 125/A 2
14 Original part for rear-view mirror 2
15 M8 DIN 6923 nut 3
16 Nut with drill trhough (left side) 1
17 5,5x12 screw to tight into plastic 2
18 Screw cap 4

Shop for quality Puig products on our website.

Buy quality motorcycle windshields & fairings in our online store.



https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/windshields-fairings.html



